
ĐỀ THI THỬ MÔN ANH TỐT NGHIỆP THPT

 TRƯỜNG THPT NGÔ GIA TỰ – VĨNH PHÚC LẦN 4 NĂM 2018

[image: image1.jpg]SO GD&DT VINH PHUC KITHI KSCD LOP 12 LAN IV. NAM HQC 2017 - 2018
TRUONG THPT NGO GIA TU DE thi mén: Tiéng Anh
Th gian lim b 60 phis Khing ké thi gian giao dé

Ma dé thiz 132 (Dé thi gom 50 edu tric ngh

SBD: .....

- Ho vi tén thi sinh:

Mark the leter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs
from the other three in pronunciation in each of the following questions.
Ciul:  Acircles C.areas D. complaints
Ciu2: A major C. applicant 0. sailor
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose siress differs from the
other three in pronunciation in each of the following questions.
Ciud: A attude B instinctive . continent D. dietary
Ciud:  Aprefer B suburb C. canoe D. support
Mark the letter 4, B, C or D on your answer sheet 10 show the underlined part that needs correction.
Cilu S: She had so many luggage that there was not enough room in the car or it
. s0 many 8ot . enough room Dt
Ciu can be observed, described, and reliably identfy it can also be elicited and manipulaied
under experimental conditions.
. can also B, smile C identify D. experiment
Ciu 7 Many of the important products obiained from trees, one of the most important is wood pulp.
which i used in paper-making.
. obtained . Many of the C. the most D. paper - making
Mark the letter A, B, C, or D on your answer sheet t indicate the correct answer o each of the
Jollowing questions.
e wil take me 25 years to pay offthe Then the house will be mine.

A debit B morigage C- dividend D. overdraft
Ciu 9: James was asking about  lot of personal things. I didn't like____about my private life.
.10 be asking 1. asking C.oask D. being asked
Ciw 10: The windows are in frames.
. circular huge wooden B. huge wooden circular
C. wooden huge circular D. huge circular wooden
Cau 11 have made communication fuster and easier through the use of email and the

internet is widely recognized,
A. Thatit’s computers B That computers  C. Its that computers . Computers that

Ciw 12: An endangered speces i a species__ population is so small that it is in danger of becoming
extinct.

A, what B.who . which D. whose
Ciu 13: An passer-by gave the police a full description of the man.

A. observant B. observance C. observable D. observatory
Ciu 14: Flower oils are ... ofthe ingredients used in making perfume.

. among expensive . among the most expensive

C. being most expensive D. expensive
Ciu 15: A joumalist managed to some interesting facts about John.

A.digup B takeaway . bring about D. make out
Ciu 16: 10 combat t, drug abuse is on the increase.

A. Insicad of he efort B.In the event of trying

. Throughout the trying D. Despite efforts
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A will be 2. would be C.were . would have been
Ciu 18: Thanks t0 all the qualified staf, the cvent was __ and flowed smoothly.
Awell - off 8. well - planned Cowell-attended  D. well - done
Ciw 19: Viemam U23 made not only Asia but also Europe keep a close eve on them. They
internationally.
. have made headlines B. had made headlines C. did headlines . have done headlines
Mark the letter A, B, C. or D on your answer sheet to indicate the most suitable response to compl
ete each of the following exchanges.
Ciu 20: Jenny: “Hi, Mark. Long time to see. What's going on?2”
Mark: 5
A. Tam going 10 5¢e @ movi B. Good moming
C.So-50 D.1saw you yesterday
Ciu 21: Teacher : “You did a really good job on your midierm exam. Keep going!”
John: -
A Tknew it. Thank you, my teacher B, Thanka lot
C. Thank you for your compliment! D. Yes, sure!

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST
in meaning to the underlined part in each of the following questions.

Ciu 22: The works of such men as the English philosophers John Locke and Thomas Hobbes helped
‘pave the way for academic freedom i the modern sense

A-enhanced B. incorporated C.terminate: D. prevented
Ciu 23: My advice 10 you is to write & list ofal the tasks you have 0 do and prioritise them.
A neglect in favour of B. amange in order of precedence
. badly plan D. disperse over the wide area

Mark the letter A, B, C, or D on your answer sheet  indicate the word or phrase that is OPPOSITE
in meaning to the underlined part in each of the following questions.

Ciu 24: Speaking rudely 10 the judges was a rash behaviour. You really hurt your chances of winning.

A. without carcful planning B, funny and disrespectful
C. trying 10 hide information . with much thought of consideration

Ciu 25: Anna volunteered to work for a charitable organization with a view to helping disabled children.
A mental 8. normal . handicapped . poor

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning t0 euch of the following questions.
Ciu 26: Smoking is not permitied i this office.
. You couldn t smoke in this office. . You mustn 't smoke in this office.
. You migitn‘t smoke i this offce. D. You needn't smoke in this offce.
Ciu 27: Had the advertisement for our product been better, more people would have bought it.
. Not many people bought our product because it was 50 bad.
8. Our product was of better quality so that more people would buy i
C. Fewer peaple bought our product due 10 its bad quality
D. Since the advertisement for our product was so bad, fewer people bought i
Ciiu 28: “You're always making terrible mistakes, said the teacher.
. The teacher complained about his students making terrible mistakes.
B. The teacher made his students not always make terrible mistakes
. The teacher realized that his students always made terrible mistakes.
. The teacher asked his students why they always make terrible mistakes.

Mark the leiter A, B, C, or D on your answer sheet to indicate the sentence that best combines of
each pair of sentences in the following questions.




[image: image3.jpg]Cin 29: Vietnam defeated Qatar in AFC U23 Championship semifinal. It marked a new episode in
Vietnam’s football history.

A. Vietam defeated Qatar in AFC U23 Championship semifinal, which marked a new episode in
Vietam's football history.

8. Vietnam defeated Qatar in AFC U23 Championship semifinal that it marked a new episode in
Vietnam’s football history.

C. Vietnam defeated Qatar in AFC U23 Championship semifinal then it marked a new episode in
Vieman's footbal history.

D. Vietnam defeated Qatar in AFC U23 Championship semifinal and marked a new episode in
Vietam’s football history.
(Ciiu 30: She tred very hard to pass the driving test. She could hardly pass it

. Despite being able 1o pass the driving test, she didn’t pass it

1. Although she didn't try hard t0 pass the driving test, she could pass ir.

C. No matter how hard she ried. she could hardly pass the driving fet.

. She tred very hard, o she passed the driving tes satsfactoril.

Read the passage and mark A, B, C, or D to indicate the correct answer to each of the blanks.

CHESS
Chess, often (31). 10 as the Royal Game, is the oldest of all board games which do not contain
an element of chance.The origins of chess are uncertain (32) there are a number of legends

regarding its invention. One story says that it was King Solomon who mnvented chess, another tht it was
the Greek god Hermes, and yet another that the Chinese mandarin Han-Sing was responsible for its
ereation. In fact, chess almost certainly originated in India in the sixth or seventh century AD. The game's
populasity then spread quickly through Persia (now known as Iran) and from there came to Europe. The
first documented reference 1o chess in lterature is in a Persian romance which was writien about 600
ADI is (33), the word “chess” comes from “shah”, the Persian word for “king” and that
“checkmate”, the game’s winning (34) . comes from the phrase “shah mat”. (35)__ “the king
is dead”. The rules and pieces used in the game have undergone changes over the centurics. Modem chess
owes much to the Spaniard Lopez de Segura. who in 1561 wrote the first book on how 10 play the game.
Init, he introduced the concept of “castling”, which had not been part of the game until then.

Ciu3l: A called B. mentioned C.refemed D. known
Ciu32: A despite B. however Conevertheless D although
Ciu3d: A believed B.held . imagined D. taken

Ciudd: A.sund B.go C.move D. place

Ciu3s: A intending B suggesting C. meaning D. representing

Read the following passage and mark the letter A, B, C or D on your answer sheet 1o indicate the
correct answer to each of the questions.

Life in the Universe

Exobiology is the study of life that originates from outside of Earth. As yet, of course, 1o such
lifeforms_have been found. Exobiologists, however, have done important wark in the theoretical study of
where lif is mostlikely 1o evolve, and what those extratemrestrial life forms might be like.

‘What sorts of planets are most likely to develop life? Most scientists agree that a habitable planet
must be terrestrial, or rock-based, with liquid surfuce water and biogeochemical cycles that somewhat
resemble Earth's. Water is an important solvent involved in many biological processes. Biogeochemical
eycles are the continuous movement and transformation of materials in the environment, These cycles
include the circulation of elements and nutrients upon which lfe and the Earth’s climate depend. Since
(as far as we know) al life is carbon-based, a stable carbon cycle is especially important.




[image: image4.jpg]‘The habitable zone is the region around a star in which planets can develop life. Assuming the
need for liquid surface water, it follows that most stars around the size of our sun will be able to sustain
habitable zones for billions of years. Stars that are larger than the sun are much hotter and bum out more
quickly; life there may not have enough time (0 evolve. Stars that are smaller than the sun have different
problem. First of all, planets in their habitable zones will be so close o the star that they will be
“tidally locked" — that is one side of the planet will always face the star in perpetual daylight with
the other side in the perpetual night. Another possible obstacle 1o ife on smaller stars is that tey tend
10 vary in their luminosity, or brightness, due to flares and “star spots”. The variation can be large enough
to have harmiful effects on the ecosystem. OF course, not all stars of the right size will give rise to life;
they also must have terrestrial plancts with the right kind of orbits. Most solar systems have more than
one planet, which influence each other’s orbit with their own gravity. Therefore,in order 1o have a stable
system with no planets flying out into space, the orbits must be a good distance from one another.
Interestingly. the amount of space needed is roughly the width of a star’s habitable zone. This means that
for life 10 evolve, the largest possible number of life-supporting planets in any star’s habitable zone is
two.

Finally, not all plancts meeting the above conditions will necessarily develop life. One major
threat s large, frequent asteroid and comet impacts, which will wipe out life each time it ries to evolve.
‘The case of Earth teaches that having large gas giants, such as Satum and Jupiter,in the outer part of the
solar system can help keep a planct safe for life. Due to their strong gravitation, they tend to catch or
deflect large objects before they can reach Earth,

Ciu 36: All of the following are mentioned in the passage as necessary for the development of life

except
A carbon B rock C.water D. oxygen

Ciu 37: The word which in paragraph 3 refers to
A-zone. B. planet C.sar D. region

Ciu 38: It can be inferred from paragraph 3 that
A-the sun varies in its luminosity B. the Earth s in the sun’s habitable zone

C. variations in luminosity help life to develop 0. the Earth is tidally locked 1o the sun
Ciu 39: The word sustain in paragraph 3 could best be replaced by

A.need Bassist C.have D. experience
Cilu 40 In order for Iife to develop, a planet’s orbit must not be

A-less wide than the star's habitable zone: B.stable

C. on the same planet as another planet”s orbit D, very close to another planet’s orbit
Ciu 41: It can be inferred from paragraph 4 that
is not possible for a star 10 have three planets with lfe on them

8. most stars have more than two planets in their habitable zones

C.n0 star has more than two planets in ts habitable zone

. for e to develop, a star must have a least two planets i its habitable zone
Cilu 42: Which of the following best expresses the essential information in the highlighted sentence in
the o

T —

B. Because of their neamess, habitable planets orbiting smaller stars usually have cither constant
daylight or constant night.

C..One problem with some starsis thattheir habitable zones are tidally locked into either light or
darkness,

. Some stars become tidally locked, so that they only shine light on one side of a planet

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the
correct answer o each of the questions.




[image: image5.jpg]Today we take electricity for granted and perhaps we do not realize just how useful this discovery has
been. Steam was the first invention that replaced wind power. It was used 1o drive engines and was passed
through pipes and radiators to warm rooms. Petrol mixed with air was the next invention that provided
power. Exploded in a cylinder, it drove a motor engine. Beyond these simple and direct uses, those forms
have not much adaptability. On the other hand, we make use of electricity in thousands of ways. From the
powerful voltages that drive our electric trains to the tiny current needed to work in a simple calculator,
and from the huge electric magnet in steel works that can [ifi 10 tons 1o the tiny electric magnet in a
doorbell, all are powered by electricit. An electric current can be made with equal case 10 heat the huge
mass of molten metal in a furnace. or to boil a jug for a cup of coffec. Other than atomic energy, which
has not as yet been harnessed o the full, electricity is the greatest power in the world. It is lexible, and
0 adaptable for any task for which it is wanted. I travels so easily and with incredible speed along wires
or conductors that it can be supplied instanily over vast distances. To generate eleciricty, huge turbines
or generators must be tuned. In Australia, they use coal or water 1o drive this machinery. When dams
are buil, falling water is used 1o drive the turbines without polluting the atmosphere with smoke from
coal. Atomic power is used in several countries but there is always fear of an accident. A tragedy once
occurred at Chernobyl, in Ukraine. at an atomic power plant used to make electricity. The reactor leaked,
which caused many deaths through radiation.

Now scientists are examining new ways of creating electricity without harmul effects 1o the
environment. They may harness the tides as they flow in and out of bays. Most importantly, they hope to
trap sunlight more efficiently. We do use solar heaters for swimming pools but as yet improvement in the
capacity of the solar cells to create more current is necessary. When this happens. electric cars will be
viable and the world will rd itself o the toxic gases given off by trucks and cars that burn fossil fuels.

Ciu 43: The author mentions the sources of energy such as wind, steam, petrol in the first paragraph (o

A imply that electricity is not the only useful source of energy

B discuss which source of energy can be a suitable alternative to electricity
. suggest that electricity should be alternated with safer sources of energy
D). emphasize the uscfulness and adaptability of electricity

(i 44 Before electricity, what was sometimes passed through pipes o heat rooms?

A petrol B.gas C.steam D. hot wind
(Ciiu 45: What does the author mean by saying that electricty i

A-Itis used to drive motor engines B. It can be made with ease.

C.Itis cheap and easy to use. D. It can be adapted to various uses.
Ciu 46: What do we call machines that make electriity?

A- pipes and radiators B voltages

. generators or turbines D. electric magnets
Ciu 47: The main forms of power used to generate electricity in Australa are

A sunlight and wind power B. water and coal

. wind and gas D. atomic power and water
Ciu 48: The word they in the last paragraph refers o

A.the tides B. scientists Carmil effects D, new ways.

Ciiu 49: The advantage of hamessing the power of the tides and of sunlight to generate electricity is that
they

‘ACare more relsble: B.are more adaptable

C. do not pollute the environment D. do not require attention
Ciu 50: The best tile for this passage could be _.

A Types of Power Plants 8. How t0 Produce Electricity

€. Why Electricity Is So Remarkable D. Electricity: Harmful Effects on Our Life
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